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zr = log[L/Lu]

L u L u=28cd/m2Bereich Büro-
Leuchtdichte

Fab(zr )=unbunte Rezeptorerregung
Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’ a=1,00, b=1,00 e=2,718282
a’=a ln(10)=2,302

10xr =eln(10) xr , 10zr /ln(10)=exr

10xr /a’=10xr  / [a ln(10)]=exr /a
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zr = log[L/Lu]

L u L u=28cd/m2Bereich Büro-
Leuchtdichte

Fab(zr )=unbunte Rezeptorerregung & modifiziert
Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’ a=1,00, b=1,00 e=2,718282
a’=a ln(10)=2,302

Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’
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zr = log[L/Lu]

L u L u=28cd/m2Bereich Büro-
Leuchtdichte

Fab(zr )=unbunte Rezeptorerregung & modifiziert
Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’ a=1,00, b=1,00 e=2,718282
a’=a ln(10)=2,302

Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’
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1,01
=0,98

a=2,00
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a’=3,740, b=1,00

m
1,61

=0,61
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zr = log[L/Lu]

L u L u=28cd/m2Bereich Büro-
Leuchtdichte

Fab(zr )=unbunte Rezeptorerregung & modifiziert
Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’ a=1,00, b=1,00 e=2,718282
a’=a ln(10)=2,302

Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’
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1,01
=0,98
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a’=1,417, b=1,00
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=1,56
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zr = log[L/Lu]

L u L u=28cd/m2Bereich Büro-
Leuchtdichte

Fab(zr )=unbunte Rezeptorerregung & modifiziert
Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’ a=1,00, b=1,00 e=2,718282
a’=a ln(10)=2,302

Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’
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zr = log[L/Lu]

L u L u=28cd/m2Bereich Büro-
Leuchtdichte

Fab(zr )=unbunte Rezeptorerregung & modifiziert
Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’ a=1,00, b=1,00 e=2,718282
a’=a ln(10)=2,302

Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’
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L u L u=28cd/m2Bereich Büro-
Leuchtdichte

Fab(zr )=unbunte Rezeptorerregung & modifiziert
Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’ a=1,00, b=1,00 e=2,718282
a’=a ln(10)=2,302

Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’
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L u L u=28cd/m2Bereich Büro-
Leuchtdichte

Fab(zr )=unbunte Rezeptorerregung & modifiziert
Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’ a=1,00, b=1,00 e=2,718282
a’=a ln(10)=2,302

Fab(zr ) = b 10zr /a’ − 10−zr /a’

10zr /a’ + 10−zr /a’
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